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Question Label : Multiple Choice Question

What is research design ?

Options:

A way of conducting research that is not grounded in theory.

HATHA HIA B U TUDT Al TG I AT 7B E

The choice between using qualitative or quantitative methods.

, TS AT O HEET 5 ITAET B B A" A

The style in which you present your research findings, e.g. a graph.

A framework for every stage of the collection and analysis of data.

4o Ul & HUs AT 9N F Ucdd =999 & o0 U |
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Question Label : Multiple Choice Question

In a mixed research design :

4

o T AgEIS AR H
Options :

people of different cultures are included

—

gt F%piodl & JTaEiEl B oA B = &

1. &

researchers from different backerounds are included

, AT STel A il e B ¥

both quantitative and qualitative information is used to draw conclusions

3 @ TS AT IOMHE ST T B HATHSI Bl ITANT FHAT ST 5

includes samples of different social groups
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Question Label : Multiple Choice Question

When selecting a research design a phenomenon should be :

UH AJHIH AADeT B AT B FHT TEAT ... BT =BT
Options:

communicable

'I.*'J*’W



indirect
3w FATEA

Non-communicable

4, ®
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Question Label : Multiple Choice Question

Researchers engaged in which of the following make no effort to manipulate or control
variables ?

= # 9 frEd oiessal =70 &1 Tesd 91 MEEY $99 # FIE T9E J8]
Hid ¢
Options :

naturalistic observation
OTFicrsh T

the double-blind procedure
f&—3e uiha

replication

3. % "%

experimentation
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Question Label : Multiple Choice Question

The underpinning philosophy of Quantitative research is :
HAEHHS AJHTH & AL U7 G/ 5

Options :
Empiricism

Exploration
=TT

Rationalism

= ot

Narration
ES ]
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Question Label : Multiple Choice Question
Dominant research value of Qualitative research is :
TUICHS FAJASE 5 9 FAJEE o E




Options :

Reliability
EEEREIRE]

Objectivity
.Fq El-. |r.. :J "

2.% "3

Rigidity
CISIEG ||

Authenticity
OTHITOTh
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Question Label : Multiple Choice Question

Which of the following is not an approach to enquiry for Quantitative research ?

fFriciad # | HE-91 "EAS AJEGH & [0 S # Sienr T8 5 7
Options :

Structured



Rigid
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Predetermined
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Question Label : Multiple Choice Question
A quantitative research has following characteristics except one to identify below :
Options :

Emphasis on greater sample size

% AT 5:\::]31117_*[ Hig 9¥ 3_\| T

Narrow focus in terms of extent of enquiry
, x T FOEWE H HEH H HDOT =
Emphasis on description of variables

Predetermined methodology

| T R s
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Question Label : Multiple Choice Question

Mixed method typology is being governed by following except one, which needs to be

identified from different options mentioned below

Afyg @ eEaRi=T # 0% @ BlEsT Mearad gF1 MdEg & &

TE &, T4 9" aiva @afes @@l F I5aer T 9nen
Options :
what is being mixed

when in the research process the mixing is done

ST ier ofsmar § e fEmar s &

in what order mixing occurs

fyeror Fpg &F9 H =G B

where mixing is being performed

SEl g far =1 =1 81
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Question Label : Multiple Choice Question

The sentence - 'Only phenomena confirmed by the senses can be warranted as
knowledge' refers to;

qEg - il @ gt @ TS Sae e B AW H €9 H ane [
S Heell &

Options:

Deductivism

Phenomenalism

T

Inductivism

— T =

. i, r"-,-— E
3. % =

Constructionism
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Question Label : Multiple Choice Question

'Knowledge can be produced by collecting facts that provide the basis for laws' refers to

‘T T B OUHA FTIDH AW W IEGA HAT A OFEHAT B A DAL B

FATHY U &3d & I 95 Heldd &l &



Options :

Deductivism

Phenomenalism

A THAToT

Inductivism
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Question Label : Multiple Choice Question

Which of the following is not a criticism of qualitative research ?

i § 9 HE-A1 JOncA® ATHIE H A= AE B 7
Options :

The studies are difficult to replicate

| o FEE 1 GEE ¥ miew S B

There is a lack of transparency

- T (s [ =
5 % TTGIETAT =kl =RHT =



The approach is too rigid and inflexible

3 TEHU AEA FHoE HAY FE E

The accounts are too subjective and impressionistic

4 % SICZHIUT FET ATHILER AT qAEyel £
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Question Label : Multiple Choice Question

Which of the following is not a contrast between quantitative and qualitative research ?

F=lciae § § HE-A1 qAEcES AT JORES AGEIH B A [Gui Tw8

£ 7
Options :

Distance vs. proximity of researcher to participants
| SO AT H MR Bl G TAH Fiehedl
Generalization vs. contextual understanding

5 x AENAEGTOT T9H AN HH5
Hard, reliable data vs. rich, deep data
- Folw, Fegaaa =1 991 995, TEA Sl



Interpretivist vs. feminist
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Question Label : Multiple Choice Question
Which of the following is a method that is commonly used in qualitative research ?

i~ P = =

dfgd # F #E-ET uh @ S AN 9 OREs FE9E H

TOAMT & A BT

Options:

Self-completion questionnaires

=-qu] geTETl

Surveys

A

Ethnography

Structured observation

R PRIER
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Question Label : Multiple Choice Question

Mark the group used for searching and indexing of an article :

FRET T @ FERAY AN @ @ [0 ugaa "9 @ Mg B

Options :
Abstract, Authors (and affiliations), Keywords, Title
|, T@® (AT Fasan), HEeEs, oS

Conclusions, Methods, Results, Title
3 J\q-,i;';‘_, IJ.-—@J-.... J:F’ .-.x ! Q,. r‘_‘I

Abstract, Bibliography. References, Title
7, T, HeH-U99E, b

Author (and affiliations), Bibliography, Keywords, Title
oig® (AT Hama), TIgEl, HEe, A9E
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Question Label : Multiple Choice Question

What is the permissible similarity index for research paper in India ?

AT H oangus & [0 AgHT FHEAT g=hiE R B 7

Options:

1« 10%



20%

30%
®

4 % 0%
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Question Label : Multiple Choice Question

ISO 8:2019 standard is :

AEE FARTEAT 8:2019 &

Options :
Information and documentation - Rules for the abbreviation of title words and titles
of publications

Information and documentation - Presentation and identification of periodicals
AT AT Ueiad - 9 @1 R A 951
v

2

Documentation — International code for the abbreviation of titles of periodicals
OeREad - IO & ofNe & " A B AT @S

3. %

Codes for the Representation of Names of Languages

4% AT & AH & le\';_fi[.." TS
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Question Label : Multiple Choice Question

The one responsible for the shape and academic status of a journal :

U 9 & Qs "ol A |\EY & O ST sidn

ap

Options :
Editor

LA

Publisher
PEAEIET

Reviewer
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Question Label : Multiple Choice Question

Committee on Publication Ethics (COPE) is :
FHE] HATH Tlehe T (COPE) &

Options :



An advisor body
HATEhIT T

Regulatory body
A T

Sanctioning body
ATAGT T

Conflict resolution body
ZrEiade He

Question Number : 20 Question Id : 8740818737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Journal Citation Report is brought out by :
A ATgee™ Ee MEwn =\ § o

Options:

Thomson Reuters
I TCH

Clarivate Analytics
FNIde Ul ear

Elsevier
G 1
3. %



ACM
To Hlo THo
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Question Label : Multiple Choice Question

The length of Open Researcher and Contributor ID (ORCID) is :

AME FHE Us FHEe? ARe Slo (ORCID) Fl T=RE BRI B
Options :

12 characters
12 H97

16 characters
16 97

20 characters
20 H9T

25 characters
25 HHT
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The tool which does not provide access to Electronic Thesis and Dissertation (ETD) :

5 IqHIY Al IoEciag ifaq A1 @iy ug" (ETD) dF 95" e HEf
FHedl B )
Options :

Web of Science

1 ¢ 99 HATE HISH

Proquest

Ty o Ty

INFLIBNET
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Question Label : Multiple Choice Question
Mark the odd one out :
faug =7 AfEag g

Options :
Mendeley

1.6 sdl



EndNote

R ol
2. %

OpenRefine

3. ¥ :

Zotero

Srel
4. %
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Question Label : Multiple Choice Question

Mark the one which is not true about Wikipedia :

g

aiepdisar & @99 | o ®99 9 "985 5 39 M=Ead &1 o
Options :

Articles are non-linear

o ARG Bid &

Articles are non-static

T I‘I\r. e, T %’_
oid HEAh BId &

Articles are well written, balanced, neutral, and encyclopedic, containing

comprehensive, notable, verifiable knowledge

o HAW a¥e § @ U Hgfew, qe, oY g & e,

ap

=19, Jeera=Td, FoANde S g



Articles can be edited by anyone

il I s 9T gEed HT GhdT B
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Question Label : Multiple Choice Question

Which one of the following statements is nof true about random sampling ?

AGTRE Meel @ g H Ergd # | S-a1 U9 q99 98 5 7
Options :

It is reasonably accurate

o= d% =9 o HolE BT B

1. %
It is free from personal biases
,x T = JaEEl | HE BT B
It is an economical method
TE UF femEdar 9hie B
3. %
It is applied to all types of data collection
s T qE1 U & Sel HO5 97 @F] BT B
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following research, a researcher is said to be committed the Type I

error ?

[

=i § # 9 g H, US Siged B end 1 e & o uies

Options :

When the researcher rejects a null hypothesis which is actually true

| o T AT T T TREGIA BN BT HIA R A qd H 7B

When the researcher accepts a null hypothesis that is actually false

g ol U g UREHedHT HI W BT & Al gEad J Tad B

2.

When the researcher rejects both null and alternative hypothesis
G ol U g AN JHieds TREHIAT SFT B FEEE B

g

When the researcher rejects the null hypothesis that is actually false.
AT STEHAT OF 53 Tihedl & T FHial = =@ gRad O T

4. % =
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Question Label : Multiple Choice Question

Which one of the following sampling methods is of population finite size ?

Frfeiga ® o -97 el &7 s99er aefag AT Fr & 7

Options :
Area sampling

- 2= W Heet



Systematic sampling

, o TR g Aeel

Purposive Sampling

- ZgedgY Heel

Quota sampling

4 % T el
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Question Label : Multiple Choice Question

Which one of the following statements is correct about the data research ?

e O & E-H1 B9 99 F o 297 % mud O HEr A% £ 7

Options:

Diata tor research can be qualitative

1 % S T T SET OENE =1 OAEAT E

Data for research can be quantitative

sfe & TR0 2R OIEROE 21 TEAT =

Diata ftor research can be quantitative and qualitative

slie & o0 227 QERgH AT TUEdE =1 TFHar =

Diata tor research can be quantitative but never qualitative

gTre & To0 ST OTEROE 21 HhAl & Wi Bl OIEE ARl 21 FEHA
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Question Label : Multiple Choice Question

Which one of the following statements is frue for Research ?
i # 9 ®F-91 99 FgE9 & @ g8t s v

Options :

Pilot study is conducted on a larger segment of the research

i

qETe A FEEN B UH [G9Ega @S U7 AFIG AT SR B

Causal research refers to descriptive information about certain aspects of problem

q a0 §HE & HB TEgA B A H JUHERAD

Research is often referred to as scientific inquiry

HATEAN DI FAFHL ANAH T B T H OHeHT A1 AT B
3.¢¥

The sample selected for research need not represent the universe

4% HAIEGH F 00 =G Rl B gwiE B GidHET T80 S =G0l
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Question Label : Multiple Choice Question



Which one of the following statements is false for Research ?

Frfaad J § HE-91 BT FAYETE F OO Tad £ 7

Options :

Research design is a logical and systematic plan for conducting a research study

AT HEZE H & [0 AJEAW [SHEA U Al AR =FeE

Applied research is conducted to solve theoretical problems

= =

HEias JHETAT @ 59 @94 & [0 AEsiids FEgE B T §
2. )

The basic research is also called as fundamental research

gor 2l H Al AFAI A1 FBT AT 5

A hypothesis is a statement that can be put to a test to determine its validity
U 9T U HAF £ H 3EE 991 Meiid #d & fan g
4 % [T ST
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Question Label : Multiple Choice Question

Which one of the following is not a data collection method ?

fa=faiaa & 9 @ = @us0 fafa 78f 5 7
Options:
Research questions

9Te U9
1.4



Unstructured interviewing

HAEMOT AT

Postal survey questionnaire

BT H99 geATgol

Participants observation

OIS &7 99907
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Question Label : Multiple Choice Question
What does sampling cases mean ?
Options :

Sampling using a sampling frame

o LU HH T 3I9GRT Hia Heel o+l
1. ‘

Identifying people who are suitable for research

. FATEAN & 0 IIGET RN BT TEAN LA

Literally, the researcher's brief-case

. I H, 9Ral =7 S #AFT



Sampling people, newspapers, television programmes etc.

AR, HEER, celigsd HEH HAMG B el o=
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Question Label : Multiple Choice Question

Why is data analysis concerned with data reduction ?

B

o7 [Aeeaor Se-HET § 940 94iaa 57 ST B
Options :

Because we need to make sense of the data

Because for too much data is collected than required

FFiten ATYRIIT SET Bl AGIGhal o e U =1 SAd &

Because of the repetitions in answers to questionnaires

i1 eI & ITL H AL B Sl B

Because the sample size has been exceeded

=
&

i Fes-HAERE &ad =1 SIem &
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Question Label : Multiple Choice Question

Because of the number of things that can go wrong in research, there is a need for :

-, Th o

HAAHI g1 B R, T H FE I TAd Bl Gl B, IHDH [0 AGITHar

Options :

Sympathetic Supervisors

HEEld WA 9l THdds @

Wisdom to know the right time to quit

U BISH ®H FEl FHG FEA H Fegim H

Flexibility and perseverance

- = -
A=A A Gedl =i

An emergency source of Finance
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Question Label : Multiple Choice Question



The following Pie chart shows the percentage of 2400 teachers according to their subject
of teaching. Read the graph and answer the questions given below :

M= U2 J1C 3 VT @ fqUE & AT 2400 fareei @ Afer
U % | I 96 AN A G T g9l H I G

Subject wise percentage of teachers

5%

If 5/6 of the physics teachers are female then what is percentage of male physics teachers
to the total teachers of chemistry ?

afe e ot § § y6 A B @ e e & aw few J
g5y AifcEh foresnt i afden e 8 7

Options :

11% approximately

1 ¢ 119% ITH3

21% approximately
5 % 21% <TFTHT

5% approximately

3 % 3% TTHT

15% approximately

15% <mEIT
4. %
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The following histogram is based on a survey of selected families in which per month family

income (in Rs '000) was asked. Read the graph and answer the questions given below,

freafangg BT ==y Tan F T899 U7 A £ fH9E a9 e 9iaw

s /

™ (5000 T) 981 TF 51| WE TE AW A= RO A0 g9 & I L

Histogram of per month family Income

100 Ty,
20 - 80
80 | 70 | =51 70

70 4+l — &0

50 | | [ 40
30 | | | — 2
20 | ‘ ‘ — 10

10 | =
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MNumber of families

Per Month family income (in Rs. '000)

It tamily income less than Rs 20000, Rs 20000-60000 and greater than Rs 60000 are
categorise as low income, middle income and higher income families respectively then
what is percentage of families in middle income categories 7

AR IET FH A 20000 T FH FHE, 20000 T 60000 T AT 60000
£ 2 e A e 2o s s Mt M 2o bl B e B M
TERl & T0 0 Fiida A e E, af TS0 AW @ O uian @
TfeieTd @ § 7

Options :

1. & 30.5%

2. %
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Question Label : Multiple Choice Question
The mean and variance of five observations are 4.4 and 8.24 respectively. If first three
observations are 1, 2 and 6 then mean and variance of remaining two observations are :
O Hevii @ At AR fgERer wEan 44 AR 824 B Ot wsw dW
FAIAEAT H 1,2 AW 6 &, T o9 & FIEl & 7= A fg=er ¥
Options :

6.5 and 6.25 respectively

5 3T 15 IR .
1@ 6.5 FHT 6.25 FHET:

7 and 6.5 respectively

, % 7 HX 6.5 e

7 and 6.25 respectively

3 % 71 HAT 625 HHAM:

LN

6.5 and 5.25 respectively
6

]

AT 5.25 FHHET:

LN

4, =
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Question Label : Multiple Choice Question

Temperatures of city A and city B on a particular day were measured as 20°C and 40°C
respectively. Which of the following statement is not true ?

forel fae fos 97 @eT A X 28T B & A9HM &l EHen 20°C AR 40°C
T = H A T e § F HE-a B9 99 A8 5 7

Options :

Temperature of city B was twice than city A

| o TBT B T TIHAN BT A H QAT o1

Average temperature was 30°C
FET arTEE 30°C =1

The temperature of city A was smaller than city B
9= A W T9HE 9157 B H BIET of

The difference of temperature of two cities was 20°C

4 % Sl 9I=%f & OM9HM & FHaT 20°C Ii999 =0
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Question Label : Multiple Choice Question

A survey is planned to collect data on the questions related with social stigma in a city
having size 10000, 100 samples are decided to draw. Which of the following will be
suitable sampling method for selecting samples 7

U STEY T HMMNSh g% | Wg "Gl 9T Sel UHH il A a4

TE T A AR 10000 T 1100 FUAT W FAS w1 HOA @A T oz
qO+4 T & o =R O # B A 990 A3 3w 2em 7




Options :

Snowball sampling

o T T

Simple random sampling

o T ATei=5h TG

Systematic sampling
AT THA

Quota sampling

4, %
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Question Label : Multiple Choice Question

From an orchard of 100 mango trees a systematic sample of 5 trees has to be selected. If
the first unit in the sample is 14th tree then the last unit of the sample will be :
100 ¥ & USi & U 9F H 5 USi 1 U =G Sg=1 g1 567 | Al
T H UECll T 1491 US B A7 999 @ HAGH IhE BRT
Options :

94th tree

Lo WS

60th tree
5 % 60 A1 US



70th tree

3 % 10 T Ug

100th tree
N 100 T 9%
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Question Label : Multiple Choice Question



Who made the observation that attempt of the court should be to expand the reach
and ambit of fundamental rights ?

ey ?
Options :

V. R. Krishna Iyer J
| w To dlo @Re T FR

P. N. Bhagwati ]

5 o o THo Y

Subba Rao ]
3 % So e

Y. V. Chandrachud J
4 % 5o Ao dio F=d3
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Question Label : Multiple Choice Question
Seed of the right to privacy was sown in the case of :
Options :

A. K. Gopalan V. State of Madras

1¢E%Waoﬁ_{-aﬁfﬁﬂa’ﬁ?%aﬁﬁ

Kharak Singh V. State of UP
G3F THE do ¥e A% U & d% |

3. %



}*[anck;l Gandhi V. UOI ] ]
Il A1 Jo JFEH AT 2391 % 48 H

Justic K. S. Puttaswamy V. UOI
4 » TIEH Fo THo JgRaMl do I % W % A% A
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Question Label : Multiple Choice Question

'First come first serve’ basis was held to be violation of :
‘T ATAT Tee WA F R [ AT &l Steed © 7

Options :

Art.-19(1) (G)
1% Ao 19(1) (G)

Art.-14
3o 14

Art.-300 A
3o 300

Art.-298

4 % 0 298
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Expression "in the interest of general public' does not mean :
T T @ fod # AN B aed ol oo

Options:

Piublic Drder_
o Aael |

Privilege
fersTaTierRTe

Public hea]t_h
A weT |

Security
4 TONE
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Question Label : Multiple Choice Question

Doctrine of 'Eclipse’ is related with the following Article of the Constitution of
India :

TETBET F1 [EF TG & S99 3 (T age 8 g @

Options :

5
1.531-

5 % 16
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Question Label : Multiple Choice Question

'Equal protection of laws' under Art. 14 has been incorporated from :
AgBe 149 Fiwied TaEEr &1 FEE S fomn w@oe
Options :

British Constitution

fgiest digae &

American Constitution
HHTDHT HJdE |

Australian Constitution
AT & HEaE H
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Question Label : Multiple Choice Question



Which of the following is an essential element of 'Rule of Law' ?
= # ¥ #F-91 ‘9 F a9 # A9sTE 99 2 7
Options :

Judicial review
v ([ f;l;‘lld?‘ll’h"l

appointment of Judges

, g AT F

Impeachment

3. % e

Original jurisdiction
2 -, -
4' e |i'\|r:|" WJEJ %,
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Question Label : Multiple Choice Question

Which of the following is not included in Article 21 of the Indian Constitution ?
e # § 2 TRdE Hoa @ AT 21 | s T8 8 7

Options :

Right to die

1. #®

Right to life

5y T AR



Right to dignity

Right to education
fSTeTr &1 At
4.
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Question Label : Multiple Choice Question

Principle of collective responsibility of Council of Ministers has been
incorporated in :
A T F UEET SHEaE F AR FEd E

Options :
Article 75(3) ]
AT/ 75(3)

Aniq::]c—'fﬁ{l )
AFBT 75(1) |

Article-171(4)
ATBT 171(4) |

Arliq::]c 118(4)

4w FIER 118(4) H
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Question Label : Multiple Choice Question
'Rule Nisi' is related with the following writs :
T P e T JIrEar e v

Options :

Mandamus
PEEIEE]]

Habeas corpus

Prohibition
r-x = 5_]'

Certitorari

=

QEEIQDI
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Question Label : Multiple Choice Question

Ad hoc judge is appointed in the Supreme Court for :
Hdied HEE H U3 8% A $l g Bl ©

Options :

6 Months
6 HEH F &

1. %



For such period as may be necessary
4 AAEF A % U
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Question Label : Multiple Choice Question

Provision related with National Commission for S. T. has been added by the
Constitutional amendment of :
ez S O L e o B = 1 e o ) e T e e e B Al el i

Options :

87th
. 874
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Question Label : Multiple Choice Question

A valid contract at the initial stage ceases to be enforceable subsequently due to
intervention of unforseen factors. The contact will :

AR H UF 99 Higel S 38 AgH IR 3 el b B0 FaHd 6 8,
Options :

be voidable at the option of either party to contract, when it ceases to be
enforceable

Higar & 68 TR @1 T80 &N AT B A0 E §6T 8 98 Jaaid
1. % TE 1@l

become void since the time of its inception
ARE H §F BAL S A

2. %
become viod since the time it ceases to be enforceable
_— T |HY © IHF Tdod el A1 o €@hdl, §79 DU &l Sl

remain valid ]
. [AfEm™ 3= 150
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Question Label : Multiple Choice Question



B says to A - "If you do not deny it, I shall assume that the horse is sound." A
says nothing. Here A's silence is :

@ F A FEaT E - “ag AT I A B OIAEE T HE A § AW @ 5 A
0= B F F A TE Fwq 27 AT F B OAM

Options :

Coercion
i -
PUIEG G

Misrepresentation

[ i 3
cdIesH B
#® - i

=

Fraud
G 2 ol 4

Undue influence
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Question Label : Multiple Choice Question
Section 70 of the Indian Contract Act, 1872 does not apply in case of :
MR Higel AMFEHE, 1872 %1 911 70 @F] 78 8 :

Options :

Public corporation
, 1% W % A A

Government

y Hih i| HTHT;T ﬁ
2. %



Pardanashin woman
TSl Bl & HES H

3. %
Minor
4 Hd9%=h @& HHEA H
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Question Label : Multiple Choice Question

When the damages cannot be assessed, the party may be awarded by the court :
W @i B RO T8 B Hehl 9 e 8 AT B dl o el ©

Options:

Nominal damages

1. T i

Actual damages

, D A

Liquidated damages

|, T st

exemplary damages

4 % \.‘Jalhl."{l ’:I, amﬁ
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Question Label : Multiple Choice Question

A and B make a contract grounded on the erroneous belief that a particular debt is
barred by the Indian law of Limitation, the contract is :

F A @ 39 Tod [99a™ T §d3] B ¢ (6 UF (8T B9 TG THEmn fat
Options :

Void
- 9 7

Voidable

zuqm?

Valid
g &

Unlawful

4w TATE
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Question Label : Multiple Choice Question

Which of the following is not essential for a consideration ?
- - -~ = [ T Z -
fr=tiiad # | #F-91 Jidea & WY Aasss 7@ e

Options :

[t must be given at the desire of the promisor
., 8 TEErdl # =8l T ORI JF Ae

1



Valuable
5 % Heddi-

Lawful

5 09

Adequate
4. I
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Question Label : Multiple Choice Question

A gives authority to B to sell A's land, and to pay himself, out of the proceeds, the
debt due to him from A : The following statement is true.
@ 3 % 76 WIUHR <l & % 98 F 1 YA o 3, A I 957 5 aFm A § oA
FUI F1 HeW & o, ol 4 F 81 91 3 : (7 F 6 o
Options :

A cannot revoke this authority

| o T ¥ HRER A1 SfqEe T BT R

Authority can be terminated by A's insanity
% Bl Il § TF WIUHR 1 THaE Bl Gl o

2. *
Authority can be terminated by A's death
5 % P P AT H T T F TAEN B e

A can revoke this authority
4 g9 plIEEaEa| Lllrlflf'iﬁ{‘-'l FF Thdl ©
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Question Label : Multiple Choice Question

In anticipatory breach of contract, the injured party :

OeTieTd Hider W H, dfrel TEEn

Options :

Cannot bring an action

Must bring an action immediately

® T Bl T S e

Shall have to wait till the time of the performance of contract
FI Hidel # U B §AF % TdiEl 1 B

May immediately bring an action or he may wait till the time of the
performance of contract

O FEAR] A F HEhAl & AT d8 Hidel Uee & 9 ab B g S
4 T B
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Question Label : Multiple Choice Question



A contingent contract dependent on the happening of future uncertain event can be
enforced when the event

Mgy # AT o % 9fed B9 W oafag §fde, wafdd # oo 99 § o9
el

Options :
Happens

1.+

Becomes impossible
AEEE B A8

Does not happen
qicd el Bl

None of the three

o O E A T
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Question Label : Multiple Choice Question

The provision about performance of reciprocal promises has been provided under
the Indian contract act, 1872 from :

AT T2 § U § gRad TEaE TdE Jide artEm, 1872 8 afvig ®
Options:

Section _]U'[D 12
1 % TUI0H 127

Section _I 3to22
5 % HMI 139 22d%



Section 51 to 54
3 ¢ 7 519 54 3%

Section 59 to 64
4 % T 59H 647T%
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Question Label : Multiple Choice Question

A contract of pledge is a contract of :
U [l &l i

Options :

Indemnity
- L i s 2
| % AT I Hidel &

Guarantee
C i s —
U &l HideT &

2. %

Bailment

S A & 3
o ST F e

Agency

4 % AT F1 HideT &
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

"No one is allowed to enrich himself at the expense of another.” This principle is
known as :

“TEEl A1l [ SR #1 A WA F # AER T6 57 98 e
Foadl &
Options :

qllﬂﬂtlll]'l meruit
1 % [T P IA IH

quasi contract

 §ieT FF

quantum valebat

nudum pactum

w TITHE-SI
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Question Label : Multiple Choice Question

'A" shows a loaded revolver to a man who was in deep sleep and dishonestly
removes valuables from his body. Which offence has 'A" committed ?

'A' TRl @i # A TR e A o Rawat e B A @A T oasE § 96
S § qe9aM a&gal &l sl o1 'A' S BA-81 AW AT A 7
Options :

Robbery

’I.«'a-“'l‘_d“*l_:r



Theft
2. % A

Extortion

3, x SHPNT

Criminal Misappropriation

o AT AN
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Question Label : Multiple Choice Question

While a woman was passing through the corridor in dark night, 'X' suddenly
jumped in front of her and made an unusual screaming sound. The woman became
unconscious for ten minutes. X" has committed the offence of :

e G A A T A AN H A A X 6P Wl N
Wlﬂwlﬂﬂaldlﬂ fem a8 Afee @9 e & o S@Is 8 X S S

Options:

Hurt

1! 7]

1.4

Attempt to murder
erdl <l U4

Outraging the Modesty

3, % SoUlet

Criminal Intimidation

4 % ATIUIEF AT
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Question Label : Multiple Choice Question

While distinguishing attempt to commit an offence from its mere preparation,
which principle was applied by the Supreme Court of India in State of Maharastra
v. Yacoob Mohd. AIR 1980 SC 1111 ?

AT FT 07 F U909 AN 2690 G A H [Gied B & d TG &
Hiled Y 2N RNy T 99 M Id AEEE U AR, AN, 1980 TH. H
111% g 7 69 g & ar] o ?

Options :

Proximity theory

1_¢WHT

Impossibility theory
5w AHEIE

locus poententiae theory
3 % TEEIT F {6

Social Danger Theory
HH% Hhe
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Question Label : Multiple Choice Question



Which of the following is not a form of mens rea :

fFr=ticiad & | &9 U™ &1 e TE@ &

Options:

Motive
1. v P

Negligence

5w SUH

Recklessness
3 ERIERIR

Intention

4 % AT
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Question Label : Multiple Choice Question

In which of the following situations(s), the defence of provocation cannot be
pleaded ?

Frfeiad # | o TR (3) & s @1 99 Té @ 1 e
(A) Where provocation is mluntaly
Wl AT U ol
(B) Where provocation is due to lawful exercise of right of private defence.
I EIUE] M2de WiEl & TR & FR Al
(C) Where provocation is due to lawful exercise of power by the public servant
Wl AT AE-HaE F e S @ S & FE
(D) Where prov ocation deprives the power of self control
Wl WA | A €59 1 S F dfad B T

Options :

A.B.and C

1JABaﬂTC



B~C~apdD
5> % B,C, @AM D
A.CﬁapdD
3.u AqC\aﬂTD
D
4.”D
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Question Label : Multiple Choice Question

Where a person exceeds the right of private defence given under the law and
causes the death of the assailant, he shall be liable for:

T Fle S [ # AR G T ARde daw & AR # Al B g

Options :

Culpable Homicide

| o SR Te/F AT a9 &

Grievous Hurt

5 % g7 I9ed @

Murder

B.QWW

Not Liable
4 % ST TET B
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Question Label : Multiple Choice Question

State of Andhra Pradesh V. R. Punnayya AIR 1977 SC 45 is known for
distinguishing :

#ig S T M AR, [T U AR, AN 1977 UH. € 45 F QT 7 B
2 O s s A

Options :

Culpable Homicide and Murder
ATIE dFd a9 UF &l &l

Thett and Mischicf

Kidnapping and Abduction
3 % I XA '-Q]T HIETY EEI

Misappropriation and Criminal Breach of Trust

. RIS AR O A s
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Question Label : Multiple Choice Question



Which of the following is/are a continuing offence ?
Ffiad ® ®F Fwat arg @4 arl A § 7
(A) Kidnapping from India

A § I
(B) Kidnapping from lawful Guardianship

fafergul HTE | AR
(C) Abduction

AT
(D) Adultery

Options :

Cand D
. CHT D

Band D
, % BAXD

Aand B
« AT B
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Question Label : Multiple Choice Question

Warrant trial initiated on the basis of a police report commences :
OicE OIS & AT 9 aRve g f6H 9§ 9 B B
Options :

Section 238 Cr. P. C.
1. To Jo Ho €N 238



Section 244 Cr. P. C.
, % %o Ho Ho I 244

Section 225 Cr. P. C.
3 % %o Yo Ho 910 225

Section 237 Cr. P. C.
4 ﬁ?{oﬂoﬁoﬂ‘ﬁ]ifﬂ
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Question Label : Multiple Choice Question
Which of the following statement is correct 7
FfeiEd # | BF-81 59 §d © ¢

Options :

Anticipatory bail can never be cancelled U/S 438.
| % T 438 H GAEF SNG FU TG Tl A S HHa B

Anticipatory bail can be cancelled by the Magistrate u/s 437(3).
g7 437(5) 8 W SAMg gfeee g 1§ 5 A1 96 2

2. &

Anticipatory bail can be cancelled only by the sessions court or high court w's
439(2).
g1 439(2) ® F9a A9 SFEEd 91 392 A@md 59 & ARE JHEG 15

Anticipatory bail can be_can::elled both u/s 437(5) and u/s 439(2)
ST 437(5) T 439(2) M1 % g ARM FAFG & ¥E 6 S J%dl ol

4. %
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Question Label : Multiple Choice Question

Which section of Cr. P. C. can be invoked to charge the accused when there is
doubt with regard to offence committed ?

1 FNT AT & [0 § @ @ @ o o Ho &1 {9 40 § ANGE
AN T o &3 & ¢

Options :
224

1. %
218
7

9/2.,1

220
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Question Label : Multiple Choice Question

Section 3150f Cr. P. C. :
Zo To Ho & GHT 315 -

Options :

Enables the court to examine the court witness
=, i i o - =y
AT Bl ~AEET JED B 99 &l ATESE, Sdl 8

1. %



enables the prosecution to cross examine the defence witness

enables the defence to cross examine the prosecution witness

e ® AN F "El & SfaudEe 71 ANER ol ¢

enables the accused to appear as a defence witness on his request in writing.
FANGFS F D fiEd FHaeT T Ui @E S § QU B AT
4w B

Question Number : 77 Question Id : 8740818794 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : Yes
Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Each Member of the United Nations General Assembly shall have :
T T FqEEl A0 AEEd 1@ T

Options :

not more than one representative

| % T 4 e Wiy e

not more than two representative

5 % G e 2 O | T 1 O

not more than four representative
T T AfgEw g TE

not more than five representative

1=l e 110 Tl 1 2
4, &
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Question Label : Multiple Choice Question

The 1982 Convention on the Law of the Sea entered into force :
HF 9 99 1982 F1 ANHEAT 009 # [

Options :

In 1991
« 1991 H

In 1994
5> o 1994

in 1989
3 % 1989H

in 1992

4 % 19927
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Question Label : Multiple Choice Question

In which of the following cases, it was found by the International Court of Justice
that the use of straight baselines for delimitation of the territorial sea was not
contrary to International Law ?

ik R S R = A 2 | A e 1l B D B ol O 2B 4 e e |
femor % fo &6 S @ F TER S AOSE G § fdE el 8 7




Options :
Continental Shelf case (Libya Vs. Malta )
1 % FCHTeT STk A (i S Aee)

Anglo-Norwegian case (U. K. Vs. Norway)

GR-ARd oA ae (3. @. 99M 1)

Corfu Channel case (U. K. Vs. A]bania]
F o0 e (. &. I Fe=iI)

The Fial}eries Jurisdiction case (U. K. Vs. Iceland)
PSS &= ae (2, . 9 ARHYS)

4, #®
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Question Label : Multiple Choice Question

In which of the following cases, the International court of Justice recognized the
use of circumstantial evidence as part of General Principles of Law 7

FHmtEd § § @9 a8 § died AEed |5 eI |96 1 99 6 96
LRI EE R

Options :

Gulf of Maine

T ATF #4 de
1.33

Cortu Channel case

2.‘?/ [ =%

Barcelona Traction case
3w SIEIHT G a1




Anglo-Norwegian case

4w T AR a1
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Question Label : Multiple Choice Question
Which of the following is not a dualist ?
fFfaiad § § @M gaael 787 © ¢
Options :

riepel

:%ﬁ -

Anzilotti

Hans Kelsen
4 B8 DT
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Question Label : Multiple Choice Question



Which of the following organs of the United Nations has a power to take binding
decisions ?

#9951 efiaiad § 8 39 § AT 3 SEEi e oF a1 avEn @ 7
Options :

General Assembly
1. % e

Economic and Social Council

Security Council

3. T T

Trusteeship Council
4 % T g
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Question Label : Multiple Choice Question

The San Francisco conference was held in :
o GATGEE S A o1
Options:

1042
. 1942 F

1. %

1944
5 % 1944 ¥

1945
5 v 19459



1946

4w 19467
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Question Label : Multiple Choice Question

In which of the following cases, the declaratory theory of recognition was
adopted ?

a8 59 i |, 7= & s [Gei B AT b7

Options:

Tinoco Arbitration case
1 CIFIHl ATETEM die

Luther V. Sagor

, T TTH T

Caglar V. Billingham

Minquiers and Ecrehos case (France V. U.K.)

. IS Ud UHEE a9 (HF FH o Fo)

4
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Question Label : Multiple Choice Question

Which of the following is nof a supporter of the declaratory theory of recognition ?
e A § 2F A 3 AeTHS HE ) §eE Te ¢

Options:

Anzilotti

1, o Sretieilcl

Waldock
2. % dIESTD

Kunz

Brierly
4, % TET
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Question Label : Multiple Choice Question
Which of the following is not a naturalist ?
Ffiad # § $F T86wael 767 5 ¢
Options:

Vittoria

P e

St. Thomas Aquinas

Pu_fend::-rf
3. % 3\\ S



Bynkershoek
4. v FETEITSD
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Question Label : Multiple Choice Question
Which of the following statements is nof true ?
Frfad § § HH-81 59 & 78 & ¢
Options :

The person of a diplomatic agent shall be inviolable.

A diplomatic agent shall enjoy immunity from the criminal jurisdication of
the receiving state.
o U TS Ul T & ATEE SR § 3N 2R

2
A diplomatic agent shall enjoy only qualified immunity from the criminal
jurisdiction of the receiving state
UF TeHaE A U4 & AES GE § 48 Wl & AdE Iga
3.{/31‘11

A diplomatic agent is not obliged to give evidence as a witness
4w T TS O §&l % & # e 3 o a6 e
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Which of the following statement is frue ?
Frfad ® 8 HF-81 759 &g © ¢

Options:

The Exclusive Economic Zone (EEZ) shall not extend beyond 24 nautical
miles.

AT AF FATIFE F e 24 99Es Al 9§ AlF T2 e

The Exclusive Economic Zone (EEZ) shall not extend beyond 350 nautical
miles.

A A SAH F R 350 HHEE A § AE TE 2

2. %

The Exclusive Economic Zone (EEZ) shall not extend beyond 200 nautical

miles.
T A ST H e 200 SWEE A 8 AlUE TEél 2

The Exclusive Economic Zone (EEZ) shall not extend beyond 300 nautical
miles.

AT ATIF G P & 300 §Hjeh i § AGH el 2
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Question Label : Multiple Choice Question
Which of the following is nof suitably matched ?

Options :
A B
Gustav Radbruch : Sociological School

1. ¢ NEUEREEE? ARl Id= el



A B

Stammler : Natural law
, % TR i fate
A B
HLA Hart : Analytical positivism
A B
0. W. Holmes : Legal Realism
, o . 3. A faiee Feredarg
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Question Label : Multiple Choice Question

'Legal Theory is linked at one end with philosophy and, at the other end, with
political theory." This statement is of :
ToieTer @ AN e 8 g3 @ § AR gF AR Teias Ee 40 T8

Options:

Wolfgang Friedmann
ST TR HT &
| ISP SISHT

Roscoe Pound

5 % 7] F,ﬁﬂ VIRV ER

Immanuel Kant
, ZHTUE HIUE A




Thomas Hobbes

4w STE BT A
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Question Label : Multiple Choice Question

According to John Austin which of the following are the attribute of 'Sovereignty' 7
o e 3 AN T % A e 8 4 A E 7
(A) Hlimitability
SHITT
(B) Indivisibility
(C) Effectiveness
PRGHIGGI
(D) Continuity

Options :

A, B. apd D
o A B, AT D

A, B.apd C
« A, B, ATC

B and D
B &7 D

Cand D
C @AY D

4, %
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Question Label : Multiple Choice Question
Rudolf Stammler made distinction between :
E30h WHAT A [dNg AT

Options :

Concept of Law and Idea of Law
fafer #1 deheaar wd fafy & f=w # A

1.9

Positivism and Natural law
JHIEIE Ud Tepiad 9 & 7

Morality of duty and Morality of aspiration
Feled &l HAlaedl Ud SATHETAT &1 Aidedl & 7

Perfect Right and Imperfect Right
o T A AER F A
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Question Label : Multiple Choice Question

Which of the following thu:rr} of _]USt]CL was propounded by Robert Nozick ?

Ee AJifd & 3 HEiad § 9 9 =0 Mard &1 a5 @ v

Options :

Entitlement

1.4



Contractarian

BIEERLES

2. %

Utilitarian

3, % ST

Equalitarian

4. % AR
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Question Label : Multiple Choice Question

Who are associated with the 'Economic Interpretation of Law' 7
T F1 oAEE MaE § FE A6 g © 7
(A) Alf Ross
(B) Pashukanis
RECIRE
(C) Antonio Gramsci
(D) Karl Renner

Options :

B.CapdD
| v B,.CHTD

AﬁBapdD
5 % A,BHANTD



A and C
A T C

D and A
4 % D AT A
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Question Label : Multiple Choice Question

Which of the following theory does mot explain the concept of 'Legal
Personality' 7

Ffiad & 8 @9 ‘faE Sfeaa’ 31 See 3 ' 78 F 8 ¢

Options :
Will Theory

1. BT Gl

Purpose Theory
Tesd W

Fiction Theory
Fieqart Har

Concession Theory
ERIPREEERY
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Question Label : Multiple Choice Question

"There can be no movement of the human will without a purpose.’ This statement
indicates the thought of :

‘3es] & o1 AMA-2 &1 dae T80 8 q6an’ T8 AN R Nl o

Options :

]heﬁng
B[ & IddlT

1. %

Duguit

Ehrlich
o oo @ (qEr

Kelsen
e & 9N

4, #
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Question Label : Multiple Choice Question

The term 'Skeptical Movement' for Legal Realism was given by :
G 2 | e T LA~ ) 3 4 B 4 A = 0 o o

Options :

John Dickinson

1\4,31?1‘{%@?



Oliphant

Bingham
It

li’mt'. Corbin
Tlo &l
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Question Label : Multiple Choice Question
Coercion finds no place in the theory given by :
ST F FRE N T8 6

Options :

Jerome Frank
v A 56 B E1RRS

1.

[hering

BT & g H

Hans Kelsen
3 % O B & fEEr q

John Austin
4w o AT & g |
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Question Label : Multiple Choice Question

'Jurisprudence was the first of the social sciences to be born." This statement is of :
‘qmTTo R A fafdeTer T BN A A e em’ 7% R E

Options :

Wurzel

| 30 @

Montesquieu

5 x FCE

Savigny

, o A T

Durkheim
4% @ &
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Question Label : Multiple Choice Question

Which School is known for juristic pessimism ?
FA-HI [ [GE SOsgar @ e AW A os ?
Options:

Historical

1.\'-"'; _L"r"h ¥ -Ir"



Natural law

, o T

Realist Movement

3 % TEATSl AT AT

Marxian Approach

| o AR g



